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QUESTION 1

Which two mechanisms are used to maintain redundancy after a disk failure? (Choose two.) 

A. quick copy 

B. correction copy 

C. dynamic sparing 

D. emergency destage 

Correct Answer: AB 

 

QUESTION 2

What are two available methods to perform storage provisioning and configuration using RAID Manager/ CCI? (Choose
two.) 

A. in-band using FC 

B. CU using the SVP 

C. Storage Navigator CLI 

D. out-of-band using TCP/IP 

Correct Answer: BC 

 

QUESTION 3

Which two reconfiguration activities are performed without interrupting host access on a VSP Gx00 system? (Choose
two.) 

A. adding a DKB 

B. adding a DB60 drive tray 

C. upgrading from G200 to G800 

D. upgrading from G200 to G600 

Correct Answer: AB 

 

QUESTION 4

Which function is available in Hitachi Infrastructure Director (HID)? 

A. Global Active Device setup 
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B. configuration of HDLM load balancing 

C. basic provisioning of a VSP Gx00 system 

D. automated provisioning for multiple VSP Gx00 systems 

Correct Answer: C 

 

QUESTION 5

What are two requirements when virtualizing storage behind a VSP Gx00system? (Choose two.) 

A. An external volume group must be defined. 

B. The VSP Gx00port must be set to "Initiator" mode. 

C. The external storage ports must be set to "External" mode. 

D. LUNs must be mapped to the external storage ports. 

Correct Answer: CD 
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